# AN EXACT SOLUTION TO AN EQUATION AND THE FIRST EIGENVALUE OF A COMPACT MANIFOLD 

JUN LING

To Hiroshi Matano


#### Abstract

We study an exact solution to a singular ordinary differential equation and use the solution to give a new estimate on the lower bound of the first non-zero eigenvalue of a closed Riemannian manifold with a negative lower bound on the Ricci curvature in terms of the lower bound on the Ricci curvature and the largest interior radius of the nodal domains of the eigenfunction. This provides a new way to estimate eigenvalues.


## 1. Introduction

Spectral geometry has had an impact on many developments of mathematics. There have been numerous studies on eigenvalues, and especially the first non-zero eigenvalue, of Riemannian manifolds. While there are many results on the first non-zero eigenvalue for closed manifolds with positive Ricci curvature, there are only a few results for manifolds with negative lower bound on the Ricci curvature. In this paper, we study such problems. Let us recall some previous results. Li and Yau [2] proved that for an $n$-dimensional closed Riemannian manifold with Ricci curvature bounded below by a constant $(n-1) \kappa<0$ the first non-zero eigenvalue $\lambda$ of the Laplacian has the lower bound

$$
\lambda \geq \frac{1}{2(n-1) d^{2} e^{1+\sqrt{1+4(n-1)^{2} d^{2}|\kappa|}}}
$$

where $d$ is the diameter of the manifold. H. C. Yang [4] obtained a better estimate,

$$
\lambda \geq \frac{\pi^{2}}{d^{2} e^{\max \{\sqrt{n-1}, \sqrt{2}\} \sqrt{(n-1)|\kappa| d^{2}}} .}
$$

Received November 12, 2005; received in final form June 1, 2006.
2000 Mathematics Subject Classification. Primary 58J50, 35P15. Secondary 53C21.

In this paper, we give a new estimate on the lower bound. Note that the interior radius of a domain in a manifold $M$ is the radius of the largest ball contained in the domain. We have the following result.

Theorem 1.1. If $\left(M^{n}, g\right)$ is an $n$-dimensional closed Riemannian manifold and if the Ricci curvature $\operatorname{Ric}(M)$ of $\left(M^{n}, g\right)$ has a lower bound $(n-1) \kappa<$ 0 , that is,

$$
\begin{equation*}
R_{i j} \geq \kappa \delta_{i j} \tag{1}
\end{equation*}
$$

then the first non-zero eigenvalue $\lambda$ of the Laplacian $\Delta$ of $\left(M^{n}, g\right)$ satisfies the inequality

$$
\lambda \geq \frac{\pi^{2}}{d^{2}[1-(n-1) \kappa /(2 \lambda)]}>0
$$

and $\lambda$ has the lower bound

$$
\begin{equation*}
\lambda \geq \frac{\pi^{2}}{d^{2}}+\frac{1}{2}(n-1) \kappa \tag{2}
\end{equation*}
$$

where $d=2 r$, and $r$ is the largest interior radius of the nodal domains of the first eigenfunction.

In the next section, we study the properties of an exact solution $\xi$, which the author constructed in [3], to a singular ordinary differential equation. In the final section we use this solution and its properties and the structure of the nodal domains of the eigenfunction to derive our estimate for the first non-zero eigenvalue. This provides a new way to estimate eigenvalues.

## 2. An exact solution to a differential equation

Theorem 2.1. The function

$$
\begin{equation*}
\xi(t)=\frac{\cos ^{2} t+2 t \sin t \cos t+t^{2}-\frac{\pi^{2}}{4}}{\cos ^{2} t} \quad \text { on } \quad\left[-\frac{\pi}{2}, \frac{\pi}{2}\right] \tag{3}
\end{equation*}
$$

is an exact solution of the equation

$$
\begin{equation*}
\frac{1}{2} \xi^{\prime \prime} \cos ^{2} t-\xi^{\prime} \cos t \sin t-\xi=2 \cos ^{2} t \quad \text { in }\left(-\frac{\pi}{2}, \frac{\pi}{2}\right) \tag{4}
\end{equation*}
$$

Moreover, the function $\xi$ has the following properties:

$$
\begin{align*}
& \xi^{\prime} \cos t-2 \xi \sin t=4 t \cos t  \tag{5}\\
& \int_{0}^{\frac{\pi}{2}} \xi(t) d t=-\frac{\pi}{2} \tag{6}
\end{align*}
$$

$$
\begin{aligned}
& 1-\frac{\pi^{2}}{4}=\xi(0) \leq \xi(t) \leq \xi\left( \pm \frac{\pi}{2}\right)=0 \quad \text { on }\left[-\frac{\pi}{2}, \frac{\pi}{2}\right], \\
& \xi^{\prime} \text { is increasing on }\left[-\frac{\pi}{2}, \frac{\pi}{2}\right] \text { and } \xi^{\prime}\left( \pm \frac{\pi}{2}\right)= \pm \frac{2 \pi}{3}, \\
& \xi^{\prime}(t)<0 \text { on }\left(-\frac{\pi}{2}, 0\right) \text { and } \xi^{\prime}(t)>0 \text { on }\left(0, \frac{\pi}{2}\right), \\
& \xi^{\prime \prime}\left( \pm \frac{\pi}{2}\right)=2, \xi^{\prime \prime}(0)=2\left(3-\frac{\pi^{2}}{4}\right) \text { and } \xi^{\prime \prime}(t)>0 \text { on }\left[-\frac{\pi}{2}, \frac{\pi}{2}\right], \\
& \left(\frac{\xi^{\prime}(t)}{t}\right)^{\prime}>0 \text { on }\left(0, \frac{\pi}{2}\right) \text { and } 2\left(3-\frac{\pi^{2}}{4}\right) \leq \frac{\xi^{\prime}(t)}{t} \leq \frac{4}{3} \text { on }\left[-\frac{\pi}{2}, \frac{\pi}{2}\right], \\
& \xi^{\prime \prime \prime}\left(\frac{\pi}{2}\right)=\frac{8 \pi}{15}, \xi^{\prime \prime \prime}(t)<0 \text { on }\left(-\frac{\pi}{2}, 0\right) \text { and } \xi^{\prime \prime \prime}(t)>0 \text { on }\left(0, \frac{\pi}{2}\right) .
\end{aligned}
$$

Proof of Theorem 2.1. For convenience, let $q(t)=\xi^{\prime}(t)$, that is,

$$
\begin{equation*}
q(t)=\xi^{\prime}(t)=\frac{2\left(2 t \cos t+t^{2} \sin t+\cos ^{2} t \sin t-\frac{\pi^{2}}{4} \sin t\right)}{\cos ^{3} t} \tag{7}
\end{equation*}
$$

Equation (4), the values $\xi( \pm \pi / 2)=0, \xi(0)=1-\pi^{2} / 4$ and $\xi^{\prime}( \pm \pi / 2)=$ $\pm 2 \pi / 3$ can be verified directly from (3) and (7). The values of $\xi^{\prime \prime}$ at 0 and $\pm \pi / 2$ can be computed via (4).
(5) is equivalent to $\left(\xi(t) \cos ^{2} t\right)^{\prime}=4 t \cos ^{2} t$. Therefore

$$
\xi(t) \cos ^{2} t=\int_{\frac{\pi}{2}}^{t} 4 s \cos ^{2} s d s
$$

and

$$
\begin{aligned}
\int_{-\frac{\pi}{2}}^{\frac{\pi}{2}} \xi(t) d t & =2 \int_{0}^{\frac{\pi}{2}} \xi(t) d t \\
& =-8 \int_{0}^{\frac{\pi}{2}}\left(\frac{1}{\cos ^{2}(t)} \int_{t}^{\frac{\pi}{2}} s \cos ^{2} s d s\right) d t \\
& =-8 \int_{0}^{\frac{\pi}{2}}\left(\int_{0}^{s} \frac{1}{\cos ^{2}(t)} d t\right) s \cos ^{2} s d s \\
& =-8 \int_{0}^{\frac{\pi}{2}} s \cos s \sin s d s=-\pi .
\end{aligned}
$$

It is easy to see that the function $q$ satisfies the following equations:

$$
\begin{equation*}
\frac{1}{2} q^{\prime \prime} \cos t-2 q^{\prime} \sin t-2 q \cos t=-4 \sin t \tag{8}
\end{equation*}
$$

and

$$
\begin{equation*}
\frac{\cos ^{2} t}{2\left(1+\cos ^{2} t\right)} q^{\prime \prime \prime}-\frac{2 \cos t \sin t}{1+\cos ^{2} t} q^{\prime \prime}-2 q^{\prime}=-\frac{4}{1+\cos ^{2} t} \tag{9}
\end{equation*}
$$

The last equation implies that $q^{\prime}=\xi^{\prime \prime}$ cannot achieve its non-positive local minimum at a point in $(-\pi / 2, \pi / 2)$. On the other hand, $\xi( \pm \pi / 2)=0$, and $\xi^{\prime}( \pm \pi / 2)= \pm 2 \pi / 3$. It is also easy to compute from equation (4) that $\xi^{\prime \prime}( \pm \pi / 2)=2$. Therefore $\xi^{\prime \prime}(t)>0$ and $\xi^{\prime}$ is increasing on $[-\pi / 2, \pi / 2]$. Since $\xi^{\prime}(0)=0$, we have $\xi^{\prime}(t)<0$ on $(-\pi / 2,0)$ and $\xi^{\prime}(t)>0$ on $(0, \pi / 2)$.
$q^{\prime \prime}$ satisfies the equation

$$
\begin{align*}
& \frac{\cos ^{2} t}{2\left(1+\cos ^{2} t\right)}\left(q^{\prime \prime}\right)^{\prime \prime}-\frac{\cos t \sin t\left(3+2 \cos ^{2} t\right)}{\left(1+\cos ^{2} t\right)^{2}}\left(q^{\prime \prime}\right)^{\prime}  \tag{10}\\
&-\frac{2\left(5 \cos ^{2} t+\cos ^{4} t\right)}{\left(1+\cos ^{2} t\right)^{2}} q^{\prime \prime}=-\frac{8 \cos t \sin t}{\left(1+\cos ^{2} t\right)^{2}}
\end{align*}
$$

Thus $q^{\prime \prime}$ cannot achieve its non-positive local minimum at a point $t_{1} \in(0, \pi / 2)$. Otherwise, the left-hand side of the equation is non-negative at $t_{1}$ and the right hand side of the equation at $t_{1}$ is negative, which is impossible. Now $\xi^{\prime \prime \prime}(0)=q^{\prime \prime}(0)=0$ since $\xi$ is an even function and $\xi^{\prime \prime \prime}=q^{\prime \prime}$ is an odd function, and $\xi^{\prime \prime \prime}(\pi / 2)=q^{\prime \prime}(\pi / 2)=8 \pi / 15$ since by $q(\pi / 2)=\xi^{\prime}(\pi / 2)=2 \pi / 3, q^{\prime}(\pi / 2)=$ $\xi^{\prime \prime}(\pi / 2)=2$ and by (8),

$$
q^{\prime \prime}\left(\frac{\pi}{2}\right)=\lim _{t \rightarrow \pi / 2}\left(2 q^{\prime}(t) \tan t+2 q(t)-4 \tan t\right)=-2 q^{\prime \prime}\left(\frac{\pi}{2}\right)+\frac{4 \pi}{3}
$$

Therefore $\xi^{\prime \prime \prime}(t)>0$ on $(0, \pi / 2)$. The remaining results on the last line of the theorem follow from the fact that $\xi^{\prime \prime \prime}$ is an odd function.

Set $h(t)=\xi^{\prime \prime}(t) t-\xi^{\prime}(t)$. Then $h(0)=0$ and $h^{\prime}(t)=\xi^{\prime \prime \prime}(t) t>0$ in $(0, \pi / 2)$. Therefore $\left(\xi^{\prime}(t) / t\right)^{\prime}=h(t) / t^{2}>0$ in $(0, \pi / 2)$. Note that $\xi^{\prime}(-t) /(-t)=\xi^{\prime}(t) / t$, $\lim _{t \rightarrow 0} \xi^{\prime}(t) / t=\xi^{\prime \prime}(0)=2\left(3-\pi^{2} / 4\right)$ and $\xi^{\prime}(t) /\left.t\right|_{t=\pi / 2}=4 / 3$.

## 3. An estimate on the first non-zero eigenvalue

We now estimate the first non-zero eigenvalue, using the method in [5]. Let $v$ be an eigenfunction of the first non-zero eigenvalue $\lambda$ of the Laplacian $\Delta$

$$
\begin{equation*}
\Delta v=-\lambda v \quad \text { in } M \tag{11}
\end{equation*}
$$

We may scale $v$ such that

$$
\begin{equation*}
\max _{M} v=1, \quad \min _{M} v=-k \tag{12}
\end{equation*}
$$

with $0<k \leq 1$.
Let $b>1$ be an arbitrary constant and let

$$
\begin{equation*}
\alpha=\frac{1}{2}(n-1) \kappa<0 \quad \text { and } \quad \delta=\frac{\alpha}{\lambda}<0 \tag{13}
\end{equation*}
$$

Define a function $Z$ on $\left[-\sin ^{-1}(k / b), \sin ^{-1}(1 / b)\right]$ by

$$
Z(t)=\max _{x \in M, t=\sin ^{-1}(v(x) / b)} \frac{|\nabla v|^{2}}{\lambda\left(b^{2}-v^{2}\right)}
$$

Theorem 3.1. Suppose the function $z:\left[-\sin ^{-1}(k / b), \sin ^{-1}(1 / b)\right] \mapsto \mathbf{R}^{1}$ satisfies the following conditions:
(i) $z(t) \geq Z(t), \quad t \in\left[-\sin ^{-1}(k / b), \sin ^{-1}(1 / b)\right]$.
(ii) There exists some $x_{0} \in M$ such that $z\left(t_{0}\right)=Z\left(t_{0}\right)$ at the point $t_{0}=$ $\sin ^{-1}\left(v\left(x_{0}\right) / b\right)$.
(iii) $z\left(t_{0}\right) \geq 1$.
(iv) $z^{\prime}\left(t_{0}\right) \sin t_{0} \leq 0$.

Then the following inequality holds:

$$
\begin{equation*}
0 \geq-\frac{1}{2} z^{\prime \prime}\left(t_{0}\right) \cos ^{2} t_{0}+z^{\prime}\left(t_{0}\right) \cos t_{0} \sin t_{0}+z\left(t_{0}\right)-1+2 \delta \cos ^{2} t_{0} \tag{14}
\end{equation*}
$$

Proof. Define

$$
J(x)=\left\{\frac{|\nabla v|^{2}}{\left(b^{2}-v^{2}\right)}-\lambda z\right\} \cos ^{2} t
$$

where $t=\sin ^{-1}(v(x) / b)$. Then

$$
J(x) \leq 0 \quad \text { for } x \in M \quad \text { and } \quad J\left(x_{0}\right)=0
$$

If $\nabla v\left(x_{0}\right)=0$, then

$$
0=J\left(x_{0}\right)=-\lambda z \cos ^{2} t
$$

This contradicts condition (iii) in the theorem. Therefore

$$
\nabla v\left(x_{0}\right) \neq 0
$$

The maximum principle implies that

$$
\begin{equation*}
\nabla J\left(x_{0}\right)=0 \quad \text { and } \quad \Delta J\left(x_{0}\right) \leq 0 \tag{15}
\end{equation*}
$$

$J(x)$ can be rewritten as

$$
J(x)=\frac{1}{b^{2}}|\nabla v|^{2}-\lambda z \cos ^{2} t
$$

Take normal coordinates about $x_{0}$. (15) is equivalent to

$$
\begin{equation*}
\left.\left(2 / b^{2}\right) \sum_{i} v_{i} v_{i j}\right|_{x_{0}}=\left.\lambda \cos t\left[z^{\prime} \cos t-2 z \sin t\right] t_{j}\right|_{x_{0}} \tag{16}
\end{equation*}
$$

and

$$
\begin{align*}
& 0 \geq\left(2 / b^{2}\right) \sum_{i, j} v_{i j}^{2}+\left(2 / b^{2}\right) \sum_{i, j} v_{i} v_{i j j}-\lambda\left(z^{\prime \prime}|\nabla t|^{2}+z^{\prime} \Delta t\right) \cos ^{2} t  \tag{17}\\
& \quad+4 \lambda z^{\prime} \cos t \sin t|\nabla t|^{2}-\left.\lambda z \Delta \cos ^{2} t\right|_{x_{0}}
\end{align*}
$$

Rotate the frame so that $v_{1}\left(x_{0}\right) \neq 0$ and $v_{i}\left(x_{0}\right)=0$ for $i \geq 2$. Then (16) implies

$$
\begin{equation*}
\left.v_{11}\right|_{x_{0}}=\left.(\lambda b / 2)\left(z^{\prime} \cos t-2 z \sin t\right)\right|_{x_{0}} \quad \text { and }\left.\quad v_{1 i}\right|_{x_{0}}=0 \text { for } i \geq 2 \tag{18}
\end{equation*}
$$

It is easy to verify that the following equations:

$$
\begin{aligned}
\left.|\nabla v|^{2}\right|_{x_{0}} & =\left.\lambda b^{2} z \cos ^{2} t\right|_{x_{0}},\left.\quad|\nabla t|^{2}\right|_{x_{0}}=\frac{|\nabla v|^{2}}{\left(b^{2}-v^{2}\right)}=\left.\lambda z\right|_{x_{0}} \\
\Delta v /\left.b\right|_{x_{0}} & =\Delta \sin t=\cos t \Delta t-\left.\sin t|\nabla t|^{2}\right|_{x_{0}} \\
\left.\Delta t\right|_{x_{0}} & =\frac{\sin t|\nabla t|^{2}+\Delta v / b}{\cos t}=\left.\frac{\lambda z \sin t-\lambda v / b}{\cos t}\right|_{x_{0}} \\
\left.\Delta \cos ^{2} t\right|_{x_{0}} & =\Delta\left(1-v^{2} / b^{2}\right)=-\left(2 / b^{2}\right)|\nabla v|^{2}-\left(2 / b^{2}\right) v \Delta v \\
& =-2 \lambda z \cos ^{2} t+\left.\left(2 / b^{2}\right) \lambda v^{2}\right|_{x_{0}}
\end{aligned}
$$

Therefore,

$$
\begin{aligned}
\left.\left(2 / b^{2}\right) \sum_{i, j} v_{i j}^{2}\right|_{x_{0}} & \geq\left(2 / b^{2}\right) v_{11}^{2} \\
& =(1 / 2) \lambda^{2}\left(z^{\prime}\right)^{2} \cos ^{2} t-2 \lambda^{2} z z^{\prime} \cos t \sin t+\left.2 \lambda^{2} z^{2} \sin ^{2} t\right|_{x_{0}} \\
\left.\left(2 / b^{2}\right) \sum_{i, j} v_{i} v_{i j j}\right|_{x_{0}} & =\left(2 / b^{2}\right)(\nabla v \nabla(\Delta v)+\operatorname{Ric}(\nabla v, \nabla v)) \\
\geq & \left(2 / b^{2}\right)\left(\nabla v \nabla(\Delta v)+(n-1) \kappa|\nabla v|^{2}\right) \\
& =-2 \lambda^{2} z \cos ^{2} t+\left.4 \alpha \lambda z \cos ^{2} t\right|_{x_{0}} \\
& \quad-\left.\lambda\left(z^{\prime \prime}|\nabla t|^{2}+z^{\prime} \Delta t\right) \cos ^{2} t\right|_{x_{0}} \\
& =-\lambda^{2} z z^{\prime \prime} \cos ^{2} t-\lambda^{2} z z^{\prime} \cos t \sin t+\left.(1 / b) \lambda^{2} z^{\prime} v \cos t\right|_{x_{0}}
\end{aligned}
$$

and

$$
\begin{aligned}
4 \lambda z^{\prime} \cos t \sin t \mid & \left.\nabla t\right|^{2}-\left.\lambda z \Delta \cos ^{2} t\right|_{x_{0}} \\
& =4 \lambda^{2} z z^{\prime} \cos t \sin t+2 \lambda^{2} z^{2} \cos ^{2} t-\left.(2 / b) \lambda^{2} z v \sin t\right|_{x_{0}}
\end{aligned}
$$

Putting these results into (17) we get

$$
\begin{align*}
0 \geq- & \lambda^{2} z z^{\prime \prime} \cos ^{2} t+(1 / 2) \lambda^{2}\left(z^{\prime}\right)^{2} \cos ^{2} t+\lambda^{2} z^{\prime} \cos t(z \sin t+\sin t)  \tag{19}\\
& +2 \lambda^{2} z^{2}-2 \lambda^{2} z+\left.4 \alpha \lambda z \cos ^{2} t\right|_{x_{0}}
\end{align*}
$$

where we used (18). By condition (iii) in the theorem,

$$
\begin{equation*}
z\left(t_{0}\right) \geq 1 \tag{20}
\end{equation*}
$$

Dividing both sides of (19) by $\left.2 \lambda^{2} z\right|_{x_{0}}$, we have

$$
\begin{align*}
0 \geq- & \frac{1}{2} z^{\prime \prime}\left(t_{0}\right) \cos ^{2} t_{0}+z^{\prime}\left(t_{0}\right) \cos t_{0} \sin t_{0}+z\left(t_{0}\right)-1+2 \delta \cos ^{2} t_{0}  \tag{21}\\
& +\frac{1}{2} z^{\prime}\left(t_{0}\right) \sin t_{0} \cos t_{0}\left(\frac{1}{z\left(t_{0}\right)}-1\right)+\frac{1}{4 z\left(t_{0}\right)}\left(z^{\prime}\left(t_{0}\right)\right)^{2} \cos ^{2} t_{0}
\end{align*}
$$

By conditions (iii) and (iv) in the theorem, the last two terms are nonnegative. Therefore (14) follows.

Proof of Theorem 1.1. Let

$$
\begin{equation*}
z(t)=1+\delta \xi(t) \tag{22}
\end{equation*}
$$

where $\xi$ is the function defined by (3) in Theorem 2.1 and $\delta$ is the negative constant in (13). We claim that

$$
\begin{equation*}
Z(t) \leq z(t) \quad \text { on }\left[-\sin ^{-1}(k / b), \sin ^{-1}(1 / b)\right] \tag{23}
\end{equation*}
$$

Theorem 2.1 implies that for $t \in\left[-\sin ^{-1}(k / b), \sin ^{-1}(1 / b)\right]$, we have the following:

$$
\begin{aligned}
& \frac{1}{2} z^{\prime \prime} \cos ^{2} t-z^{\prime} \cos t \sin t-z=-1+2 \delta \cos ^{2} t \\
& z^{\prime}(t) \sin t \leq 0 \quad(\text { since } \delta<0), \quad \text { and } \\
& z(t) \geq z\left(\frac{\pi}{2}\right)=1
\end{aligned}
$$

Let $P \in \mathbf{R}^{1}$ and $t_{0} \in\left[-\sin ^{-1}(k / b), \sin ^{-1}(1 / b)\right]$ be such that

$$
P=\max _{t \in\left[-\sin ^{-1}(k / b), \sin ^{-1}(1 / b)\right]}(Z(t)-z(t))=Z\left(t_{0}\right)-z\left(t_{0}\right) .
$$

Thus

$$
\begin{align*}
Z(t) & \leq z(t)+P \quad \text { on }\left[-\sin ^{-1}(k / b), \sin ^{-1}(1 / b)\right] \quad \text { and }  \tag{24}\\
Z\left(t_{0}\right) & =z\left(t_{0}\right)+P .
\end{align*}
$$

Suppose that $P>0$. Then $z+P$ satisfies the conditions in Theorem 3.1. (14) implies that

$$
\begin{aligned}
z\left(t_{0}\right)+P & =Z\left(t_{0}\right) \\
& \leq \frac{1}{2}(z+P)^{\prime \prime}\left(t_{0}\right) \cos ^{2} t_{0}-(z+P)^{\prime}\left(t_{0}\right) \cos t_{0} \sin t_{0}+1-2 \delta \cos ^{2} t_{0} \\
& =\frac{1}{2} z^{\prime \prime}\left(t_{0}\right) \cos ^{2} t_{0}-z^{\prime}\left(t_{0}\right) \cos t_{0} \sin t_{0}+1-2 \delta \cos ^{2} t_{0} \\
& =z\left(t_{0}\right)
\end{aligned}
$$

This contradicts the assumption $P>0$. Thus $P \leq 0$ and (23) must hold. This means

$$
\begin{equation*}
\sqrt{\lambda} \geq \frac{|\nabla t|}{\sqrt{z(t)}} \tag{25}
\end{equation*}
$$

Note that the eigenfunction $v$ of the first non-zero eigenvalue has exactly two nodal domains $D^{+}=\{x: v(x)>0\}$ and $D^{-}=\{x: v(x)<0\}$ (cf. [1]) and that the nodal set $v^{-1}(0)$ is compact. Take $q_{1}$ on $M$ such that $v\left(q_{1}\right)=1=$ $\sup _{M} v$ and $q_{2} \in v^{-1}(0)$ such that distance $d\left(q_{1}, q_{2}\right)=\operatorname{distance} d\left(q_{1}, v^{-1}(0)\right)$. Let $L$ be the minimal geodesic segment between $q_{1}$ and $q_{2}$. We integrate both
sides of (25) along $L$ and change variables, and let $b \rightarrow 1$. Let $r$ be the larger of the two interior radii of the nodal domains. Then

$$
\begin{align*}
r \sqrt{\lambda} & \geq \int_{L} \frac{|\nabla t|}{\sqrt{z(t)}} d l  \tag{26}\\
& =\int_{0}^{\frac{\pi}{2}} \frac{1}{\sqrt{z(t)}} d t \geq \frac{\left(\int_{0}^{\pi / 2} d t\right)^{\frac{3}{2}}}{\left(\int_{0}^{\pi / 2} z(t) d t\right)^{\frac{1}{2}}} \geq\left(\frac{(\pi / 2)^{3}}{\int_{0}^{\pi / 2} z(t) d t}\right)^{\frac{1}{2}}
\end{align*}
$$

Squaring the two sides, we get

$$
\lambda \geq \frac{\pi^{3}}{8 r^{2} \int_{0}^{\pi / 2} z(t) d t}
$$

Now

$$
\int_{0}^{\frac{\pi}{2}} z(t) d t=\int_{0}^{\frac{\pi}{2}}[1+\delta \xi(t)] d t=\frac{\pi}{2}(1-\delta)
$$

by (6) in Theorem 2.1. Therefore

$$
\lambda \geq \frac{\pi^{2}}{4 r^{2}(1-\delta)} \quad \text { and } \quad \lambda \geq \frac{\pi^{2}}{4 r^{2}}+\frac{1}{2}(n-1) \kappa
$$

## References

[1] I. Chavel, Eigenvalues in Riemannian geometry, Pure and Applied Mathematics, vol. 115, Academic Press Inc., Orlando, FL, 1984, Including a chapter by Burton Randol, With an appendix by Jozef Dodziuk. MR 768584 (86g:58140)
[2] P. Li and S. T. Yau, Estimates of eigenvalues of a compact Riemannian manifold, Geometry of the Laplace operator (Proc. Sympos. Pure Math., Univ. Hawaii, Honolulu, Hawaii, 1979), Proc. Sympos. Pure Math., XXXVI, Amer. Math. Soc., Providence, R.I., 1980, pp. 205-239. MR 573435 (81i:58050)
[3] Jun Ling, A bound for the first fundamental gap, Ph.D. Dissertation, State University of New York at Buffalo.
[4] H. C. Yang, Estimates of the first eigenvalue for a compact Riemann manifold, Sci. China Ser. A 33 (1990), 39-51. MR 1055558 (91g:58293)
[5] J. Q. Zhong and H. C. Yang, On the estimate of the first eigenvalue of a compact Riemannian manifold, Sci. Sinica Ser. A 27 (1984), 1265-1273. MR 794292 (87a:58162)

Jun Ling, Department of Mathematics, Utah Valley State College, Orem, UT 84058, USA

E-mail address: lingju@uvsc.edu

